Ranger Rolf’s Problem
Ranger Rolf needs to make rectangular enclosures to keep the animals in his safari park safe.  He has only 30 km of fencing and needs to keep some animals apart.
The water buffalo need an area of 6 square kilometres.

They need grassland and a river running through their enclosure.

They cannot have swamp in their enclosure.

The lions need to have a lake and grasslands in their enclosure.  They need only 4 square kilometres. There must be a road running through their enclosure.
The hippopotami need a river, swamp and lake in their enclosure. The hippopotami need 5 square kilometres.

When you have figured out where each of the rectangular enclosures should go, on the map shade the water buffalo enclosure red, the lion enclosure blue and the hippopotami enclosure brown.
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